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INSTRUCTION : Please check that OMR Answer Sheet No. and Question Booklet No. match with each other. If they do not match immediately replace

the Question Booklet and OMR Answer Sheet. Candidate should fill the correct Question Booklet No. in OMR Answer Sheet.
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IMPORTANT INSTRUCTIONS FOR THE CANDIDATES ~ (KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER)

1. Attempt all the questions. Every question has equal marks viz. 2.

2 Before answering, kindly check that this booklet has total (1-16) pages & OMR Answer sheet consists of three copies. Within first five
minutes, candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly printed and test booklet is not
damaged in any manner. In case of any discrepancy the candidate should immediately report the matter to the invigilator for replacement of test
booklet & OMR/Answer Sheet. No claim in this regard will be entertained after five minutes of start of examination.

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet.

4. Do not tear or fold any page of the question booklet and OMR/Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one
identity proof with photo like Driving License, Voter Card, Aadhar Card, Passport etc. at the Examination Centre failing which candidate will
not be allowed to enter in the Examination Centre.

6. Candidates should fill the correct name, Roll No. & Q. booklet No. on the OMR Answer Sheet. If the space for the Q. Booklet No. is left
blank or more than one Q. Booklet No. is indicated therein and non-filling of name and roll no. as per instruction, it will be deemed to be an
incorrect Q. Booklet No. & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the
consequences arising out of any error or omission in writing the Q. Booklet No. Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR/Answer Sheet and on the Biometric Machine along with signature.

7. Candidate should put his/her signature and thumb impression on the Admit Card at two places in the presence of Invigilator in the Examination
Hall.

8. Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White
Fluid/Whitener etc., to smudge, scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. If
doing so, their Answer Sheet shall be cancelled and shall not be evaluated.

9.  Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc.,
electronic or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found
possessing any such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any
other aiding material as mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and
Jammers etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for criminal prosecution.

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the
three copies to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are
allowed to take away this Test Booklet with them.

14. Each question has four alternative answers of which only one is correct. For each question, darken only one circle, as the correct answer on the
OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening the circle.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled" on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle,
your answer will be treated as wrong and such answer shall not be evaluated.
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20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action
as per instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file
criminal proceedings.
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Who won the Junior Hockey World Cup in 2016 ?
(A) India (B) China

(C) Brazil (D) Poland

Questionld: 1
The world consumer right day is observed on
(A) 15 May (B) 20 October
(C) 18 December (D) 15 March

Question Id : 2

The union government has launched THE LUCKY
GRAHAK YOJANA to encourage
(A) Digital payment (B) The use of sanitation

(C) More use of public transport

(D) None of these

Question|d: 3
The Qutub Minar was constructed by
(A) Shahjahan (B) Qutub-ud-din Aibak
(C) Mohammad Hussian (D) Humayun

Question|d : 4
The 73*¢ amendment of constitution was

concerned with
(A) Panchayati Raj (B) Law and Justice

(C) Tax Structure (D) None of these

QuestionId : 5
Mein Kampf is the autobiography of
(A) Karl Marx (B) Adolf Hitler

(C) M.K. Gandhi (D) Abraham Lincoln
QuestionId : 6

Plant : Seed : : Bird : (?)

(A) Eye (B) Egg

(C) Beak (D) Feather

Question Id : 7

In a certain code, CASTIEL is written as FDVWLHO.
The code for GABRIEL is
(A) JEDPLHO (B) JEFULHO

(C) JDEULHO (D) JCEULHO

Question Id : 8

Which of the following word will be the last in the

dictionary ?
(A) PARTICLE (B) PARTICIPATE
(C) PARTICULAR (D) PARROT

QuestionId : 9

2016 # S glehr faea 9 foreer Sirar 2

(A) HRT (B) =T

(C) sTaireT (D) Yrovg

g 3ueiear 3R Raw & A= Jrar g 2
(A) 15 718 (B) 20 3R

(C) 18 feaesy (D) 15 AR

Question Id : 2

Fog WPR o FY Iic@igd T & o "o
muﬁaargmaﬁr%’?
(A) 3fSedT 9Fee (B) ToTdT I 39T

(C) Fraeias 9RageT & ¥ 3T
(D) ST & IS T

ﬁammﬁmm?
(A) emgsTar (B) sdscieT Vseh

QO DI

(C) FgFre ghet (D) gAY

TfeesT & 739 TR o e forad a7 ?
(A) TamIdT U (B) ahiegeT 3R =
(C) & Tl (D) 73 & FIg gl

QuestionId : 5

“Mein Kampf’ foreehT 31icaeher & ?

(A) &TeT AT (B) Wreth fReer
(C) TwH. ameh (D) 31eTEH ToiereT
gier ;e ;9 (?)

(A) 3T (B) 3f=r

(c) T (D) 9@

Question Id : 7

T fARET g &, CASTIEL, FDVWLHO oI &
forar Sirer ®, dr GABRIEL && forar sirwar?
(A) JEDPLHO (B) JEFULHO

(¢) JDEULHO (D) JCEULHO
Question Id : 8

F=fof@a e=al & & Fia ar ey F AT

grem?
(A) PARTICLE (B) PARTICIPATE
(€) PARTICULAR (D) PARROT

Question Id: 9
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10.

1.

12.

13.

14.

15.

16.

If “+” means “/”, “~” means “x”, “x” means “-“ and
“/” means “+”,then35+7-5/5x6="
(A) 36 (B) 24
() 20 (D) 14

Question Id : 10
Find the odd one out :
(A) Europe (B) Asia
(C) England (D) Africa

Question Id : 11
If Kiran walked 9 metre towards North and 12 metre

towards West, how far she is from the point she had
begun to walk ?
(A) 20 metre

(C) 25 metre

(B) 15 metre
(D) 30 metre

Question Id : 12

The greatest number of four digits which is divisible
by 15, 25,40 and 75 is
(A) 9000

(€) 9600

(B) 9400
(D) 9800

Question Id : 13
In the product 3759 x 9573, the sum of tens’ digit
and units’ digit is
(A) 9
(©o

(B) 16
(D) 7
Question Id : 14

The cost price of 20 articles is the same as the
selling price of x articles. If the profit is 25%, then
the value of x is
(A) 15

(€) 18

(B) 16
(D) 25

QuestionId : 15
A train can travel 50% faster than a car. Both start
from point A at the same time and reach point B 75
kms away from A at the same time. On the way,
however, the train lost about 12.5 minutes while
stopping at the stations. The speed of the car is:
(A) 100 kmph (B) 110 kmph

(C) 120 kmph (D) 130 kmph

Question Id : 16

10.

11.

12.

13.

14.

15.

16.

I+ @ T, T HT K, K T I L
IR M IFT A 3B +7-5/5x6=7?

(A) 36 (B) 24
(€) 20 (D) 14
v 1 T ffST

(A) IO (B) uiRw™r
(C) S3dug (D) 37hreRT

QuestionId: 11

I e IR H _b 9 #Hiex 3R 9RTH7 Hr /&
12 AT Tofel &, aF Sl & 38 Tolell Y& o

39 foig & 3ahr g fohcelr &7

(A) 20 Arex (B) 15 #Hrex

(€) 25 Arex (D) 30 #HrexX

AR 37T I FEH g3r T&AT S 15, 25, 40 3R 75
J T

(A) 9000 (B) 9400

(C) 9600 (D) 9800

Question Id : 13
3759 x 9573 ¥ IUAh H g5 F 3 HR FHS
% 37 I AT AT &2
(A) 9

© 0

(B) 16

(D) 7

20 oSt @1 HT FoI x A6l F ORI g T &
AT §| 3R FABT 25% &, o x H Hod T
g7
(A) 15

() 18

(8) 16
(D) 25

Question Id : 15

Teh &l R & 50% IR A1 el & | =t g
AdTH QN THT W YE BT § 3N A F 75 el

BW U & TAF W Tgdd ¢ | T&T H
¢l of 12,5 e TRET W Tha oddid 1T | ar
FIX & AT R gran?
(A) 100 frelr wfar ©er

(€) 120 foralr wfd =er

(8) 110 foretr ufa ger
(D) 130 fhalr wfa ger

Question Id : 16
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17.

18.

19.

20.

21.

22.

23.

24.

A man's speed with the current is 15 km/hr and the
speed of the current is 2.5 km/hr. The man's speed
against the current is
(A) 8.5 km/hr

(C) 10 km/hr

(8) 9 km/hr
(D) 12.5 km/hr

Question Id : 17

What decimal of an hour is a second?
(A) .0025 (B) .0256
(C) .00027 (D) .000126

Question Id : 18

Very High Frequency (VHF) has
wavelengths.
(A) Shorter

(C) Longer

(B) Shortest

(D) Longest

Question Id : 19
Long-sight defect could be corrected by using
lens.

(A) Concave (B) Convex

(C) Diverging (D) None of these
Question Id : 20

Deficiency of Vitamin-A results in

(A) Night- blindness (B) Rickets

(C) Scurvy (D) Hair fall

Question Id : 21

For a fixed mass of gases at constant temperature, if
we decrease volume, the pressures will
(A) also decrease (B) increase

(C) remains constant (D) None of these

Question Id : 22

The life-span of Red Blood Cells is days.
(A) 60 (B) 120
(€) 180 (D) 240

Question Id : 23

The density of water is

(A) 1g/ em? (B) 1.5g/ em?

(€ 2g/ em? (D) None of these

Question Id : 24

17.

18.

19.

20.

21.

22.

23.

24.

Ueh IEHT T 4RT & AT I 15 fedr ufa ger &
IR arr A AfT 2.5 Ay 9fa ger § v e
& afad arT & faeey = gelr?

(A) 85 fohefr ufa ger  (B) 9 Thelr Uiy ©er

(C) 10 & ufa ger (D) 12.5 TR ufa der

Ueh H¢ H T FT Ueh TFHUs g7

(A) .0025 (B) .0256

(C) .00027 (D) .000126

g 3o IRT T TGS Bl &

(A) BIer (B) &e& BI&Y
(C) oret (D) H&y ofelt

Question Id : 19

-Te AV e o &1 3uAeT a8k famam o
Hehcll 872

(A) 3ader (B) 3xTor

(C) 3aErY (D) 3H9T | FIS Tar
eI @a-A T Far F IROTH g |

(A) Tatedr (B) Rpew

(C) T=raf (D) ST FARaT

Question Id : 21

fAfRTd gegaer & 4 & v fRR auAe W,
afe 837 3T S X aF ead

(A) 3 FH grar gl (B) sear &l

(€) TR T ¥ | (D) 57 & IS Fgr
T T&Fd HIRAINT Hr SAad-3afr feat
I gl

(A) 60 (B) 120

(c) 180 (D) 240

Urell &1 gelcd gl

(A) 1 /e’ (B) 15 am@e’

€ 2w (D) 4H § HIS I

Question Id : 24

Page: 4


ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight

ITM
Highlight


25.

26.

27.

28.

29.

ENGLISH LANGUAGE

Choose the option which best expresses the
meaning of the given idiom/phrase.

Backstairs influence

(A) Rightful influence (B) Political influence

() Unfair influence (D) Monetary influence
Question Id : 25

Choose the option that is opposite meaning to the

given word.

Decadent

(A) Very old (B) Knowledgeable
(C) Rich (D) Prosperous

Question Id : 26
Choose one-word substitute for the given
definitions.
The school or college in which one has been
educated.
(A) Commune (B) Matinee

(€) Alumni (D) Alma mater

Question Id : 27
Choose the correct alternative to complete the
sentence :
Gandhiji was a humble man known for his

(A) sweetness (B) pleasantness

(C) modesty (D) kindness

Question Id : 28
The sentence given below has an error in it. Identify
the part which has the error.

The widely published manifesto

1
of the new party
2
is not much different than ours.
3
No error
4
(A) 1 (B) 2
(€ 3 (D) 4

Question Id : 29
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30

31.

32.

33.

34.

35.

LGB LN
o A R e & 3 @ ¥ Remsar
?

(.A)mthws‘w (B)aﬁmw
(C) TsT 3HeHIT (D) ART ART T

Question Id : 30

ol TeT & UHS Ter H T TT olhR &7

(A) ¥ 3R (B) IHH 3TolhR

(C) 3FTHIH 3TelhY (D) 3T 3ol
TAITAR e AR T 3ETEROT 82 |
(A) FITIRT TAT (B) IRy TAR

(C) TEgay T (D) 3rczireTT EA
T & & @l & T 3cEded & SETEROT
6T &7

(A) wfafes (B) H=ATgfeY

(€) 3rsiraet (D) Y

Pffee & ¥ # & T ey 2 |

(A) o farcer AR a1l B
(B) ANFSUT &F 3reiehiet B

(C) Hammer T FET X T &l
(D) # 3MUh el el IR §|

Question Id : 34

T & T & Ta=r T &2
(A) e (B) wrATOn
(©) guRer (D) s/ &t

Question Id : 35
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36.

37.

38.

39.

40.

41.

42.

43.

Match the lists and choose the correct option from
the following :
List -1
Modern Name

List -1l
Ancient Name

1. Mahendragarh a. Jayantipuri
2. Pinjore b. Nar Rashtra
3. Narnaul c. Panchapura
4. Jind d. Kanaud

(A) 1-c, 2-b, 3-d, 4-a
(C) 1-a, 2-d, 3-b, 4-c

(B) 1-b, 2-3, 3-d, 4-c
(D) 1-d, 2-c, 3-b, 4-a
Question Id : 36

Sarasvati Wild Life Sanctuary is in the district
(A) Kaithal (B) Jhajjar

(C) Kurukshetra (D) Panchkula

Question Id : 37

Maharshi Dayanand University is situated in which
city?

(A) Kurukshetra (B) Rohtak

(C) Ambala (D) Hisar

Question Id : 38
Who is the Forest Minister of Haryana ?
(A) Captain Abhimanyu (B) Anil Vij
(C) Rao Narbir Singh (D) Vipul Goyal

Question Id : 39
Who is the Chairman of “Haryana Sarasvati Heritage
Development Board”?
(A) Manohar Lal Khattar (B) Ram Bilas Sharma
(C) Om Prakash Dhankar (D) Vipul Goyal

Question Id : 40
The International Crafts Mela of Surajkund is
organised at which district ?
(A) Karnal (B) Gurgaon
(C) Ambala (D) Faridabad

Question Id : 41

Which is the z2=#d district of Haryana ?
(A) Palwal (B) Charkhi Dadri
(C) Panipat (D) Faridabad

Question Id : 42
Pt. Ram Krishan Vyas is a celebrity in the field of
(A) Haryanvi Cinema (B) Politics
(D) None of these

Question Id : 43

(C) Haryanvi Swaang

36.

37.

38.

39.

40.

41.

42.

43.

et 1 fAere R el & @8 ReeT @
T AT :

-1 -l
myfas a1 greie A1
1. HAESIG a. SR
2. R b. R IS
3. AR c. UEg
4. SiiG, d. el

(A) 1-c, 2-b, 3-d, 4-a
() 1-a, 2-d, 3-b, 4-c

(B) 1-b, 2-a, 3-d, 4-c
(D) 1-d, 2-c, 3-b, 4-a

Question Id : 36

WA T Sid 3HIROT g Ster 7 §2

(A) et (B) 3o

() Few (D) Greper

BN carele, favafagame fohg e & Rua g2
(A) FEer (B) Jgds

(C) 3fsTem (D) fgaR
gRoT Fr g F7A HiT B2

(A) Seee A (B) e I™deT

(€) T R g (D) faqer airer

SR T dRee e SF & SuEE
el §7?

(A) AAGIETS WX
(C) 31T YISl EsTehs

(B) & foemd QAT
(D) fager aMzrer

qolhs & ANTSET wived Hor forw oo &
TSI grar &2

(A) =TT (B) Izama
(C) 3faTem (D) wdicrere

Question Id : 41

gRATOT T 2247 TSt it I &7
(A) gerger (B) TRE aredr
(C) g=iga (D) wereTg

Question Id : 42

. THASST A b &7 & gifeyr safad g2
(A) gREOEr e (B) Irataiifer

(€) R T (D) T & FS A&

Question Id : 43
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44.

45.

46.

47.

48.

49.

50.

51.

Pt. Lakhmi Chand is known as
(A) Hasya Kavi (B) Surya Kavi

(C) Chandra Kavi (D) Aashu Kavi

Question Id : 44

Asigarh Fort of Hansi was reconstructed by
Prithviraj Chauhan in
(A) 12t Century (B) 14t Century

(C) 15t Century (D) 17tk Century

Question Id : 45
Badkhal Lake is surrounded by the range of
(A) Shivalik Hills (B) Morni Hills

(C) Aravalli Hills (D) None of these

Question Id : 46

Where is the Maruti Suzuki manufacturing plant
located in Haryana ?
(A) Ambala

(C) Sonipat

(B) Rohtak
(D) Gurugram

Question Id : 47
Who is the present brand ambassador for ‘Beti
Bachao - Beti Padhao’ campaign in Haryana ?
(A) Pariniti Chopra (B) Sakshi Malik

(C) PV. Sindhu (D) Saina Nehwal

Question Id : 48

Select the correct option of districts sequence

(Area-wise small to large) of Haryana.

(A) Sirsa, Hisar, Jhajjar  (B) Jhajjar, Sirsa, Jind

(€) Jhajjar, Jind, Hisar (D) None of these
Question Id : 49

Markandeshwar temple is located in
(A) Kurukshetra (B) Mahendragarh

(C) Panipat (D) Jind

Question Id : 50
The war between Marathas and Ahmad Shah Abdali
took place in
(A) Bhiwani (B) Panipat
(C) Rewari (D) Karnal

Question Id : 51

44.

45.

46.

47.

48.

49.

50.

51.

g, JGH dG Slel offd §
(A) 8T &9
(C) ¥g Hfa

(8) g Ff
(D) mora;%

gl & 3G fohel 1 GoATAIOT GEARTST HleTe o
fore eraredy & fovar ar ?

(A) 128t erarser (B) 14dY 2rarsdy

(C) 158t eraredr (D) 17dF 2rarsdy
5T el O g5 &

(A) Rarfow wgIflsal & (B) ARG ggrisar &
(C) 3RTgelr WgIfsd & (D) ST H FIS AT
gRATUT & AR ool 3culesT T Fgl U §7?
(A) 37sTeT (B) Agas

() Aiaa (D) A

Question Id : 47

gRaIoT # S 93 - & g AHAT F foaw
AT S5 TS Pl 87

(A) gRofifa agsr (B) wmetr Afelh
(€ dqrar &y (D) TI=AT sigarer

gRAOT & ol & &Hthel AR (BIC & &3 %)
el [dhed el HI I DITAT |
(A) faTar, RER, 3teoR (B) sioor, favEr, Sic

(€) sooR, Siig, RAR (D) 7 § FIS &Y
IR H el 4 T 37 |
(A) FearT (B) HAgeeIe

(C) gr=rga (D) Siig

Question Id : 50

ST d IEHCIE JHeTol o & Jeur ohd &t
G g3Mm?
(A) THarfr
(C) Yarsr

(B) 9raigd
(D) AT

Question Id : 51
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52.

53.

54.

55.

56.

57.

58.

Who is the famous Shot-put player from Haryana ?
(A) Suresh Yadav (B) Srichand

(C) Inderjeet Singh (D) Girwar Singh

Question Id : 52

On which date Haryana Government declared to
develop Gurgaon as smart city by its own
resources?

(A) September 10, 2015 (B) September 22, 2015

(C) October 29, 2015 (D) October 22, 2015

Question Id : 53

According to Historians, which of the followings
Hindi poet/s is/are gift of Haryana ?
(A) Chand Bardai (B) Surdas

(C) Both Chand Bardai & Surdas
(D) Kabir

Question Id : 54

Currently, who is the Governor of Haryana ?
(A) A.R. Kidwai (B) Dharamveer

(C) Jagannath Pahadia (D) Kaptan Singh Solanki

Question Id : 55
A set or group of units or items under study is called
(A) Sampling (B) Sample

(C) Population (D) Random sample

Question Id : 56

The water which contains high level of minerals
content of Calcium Bicarbonate and Magnesium
bicarbonate is called as

(A) Hard water (B) Soft water

(C) Pure water (D) Purified water

Question Id : 57
The substance which is used in thermometer for
measuring the temperature is
(A) Copper (B) Mercury
(€) Gold (D) Lithium

Question Id : 58

52.

53.

54.

55.

56.

57.

58.

e %ok Wl F gRAOT 1 giley Qe @i &
&?

(A)g@rmaa (B) Hrae<

(C) SeTona R (D) R e

gRAT WHR =T afrdolsdﬁdafri-dei%
FareEt ¥ TAC AT & ™ F Qg s &
aor i g

(A) 10 RAa=R, 2015
(C) 29 3R, 2015

(B) 22 fAds=R, 2015
(D) 22 3mEREsR, 2015

Question Id : 53

sfagRl & AR @0 § ¥ $ia Iy =

A RO & 39ER L2

(A) e seTs (B) Terd

(C) e ST oA ey et

(D) &R

RO & TqAT TSIl et &2

(A) T3R. fheas (B) tRFAIR

() ey wgIfsar (D) FedieT g Hrerhr

Question Id : 55

YA g FHISA AT a&I3N & d A W
I gl STl &
(A) gfcraze

(C) SeraeEar

(B) T
(D) ¥5H e
Question Id : 56

| gt # Ffeaud aEFElae iR AR
dEFElIe o8 @idsll & 3Tddd &R &dr § 39

Fed & |
(A) FAT el (B) #g Sfer
(€) <eer Sfer (D) T STl

Question Id : 57

AT F dvAT A & v Fg 9erd &

AT AT ST 82
(A) &I (B) 9rr
(C) I (D) TR

Question Id : 58
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59.

60.

61.

62.

63.

64.

65.

Following of these units is used as unit of
measurement of temperature :
(A) Kelvin and Celsius  (B) Kelvin and Fahrenheit

(€) Kelvin and mm/hg
(D) Celsius and Fahrenheit

Question Id : 59

The beginning of the childbearing period is called as

(A) Menopause (B) Menarche

(C) Infertility (D) Secondary infertility
Question Id : 60

The end of the childbearing age is called as

(A) Menopause (B) Menarche

(€) Infertility (D) Secondary infertility

Question Id : 61

The changes which occur in male at puberty are
these of following except,
(A) growth of muscle and bone

(B) deepening of the voice

(C) growth of hair on the face, axillae, chest,
abdomen

(D) atrophy of prostate gland
Question Id : 62
The first organ of the respiratory system is
(A) Mouth (B) Skin
(C) Nose (D) Ear

Question Id : 63

The normal breathing rate is
(A) 12-16 per minute (B) 8-12 per minute

(C) 18-22 per minute (D) 26-30 per minute
Question Id : 64

One of the functions of the ear is

(A) Balancing and hearing

(B) Balancing and concentrating
(C) Hearing and concentrating

(D) Concentrating and protection

Question Id : 65

59.

60.

61.

62.

63.

64.

65.

@ d & g YT divdAT AT Sl
s & folv R ST 872
(A) Ffeae 3R afcaay

(B) ohfedsT 3R HRIgEE
(D) dfcaaw 3R BR=EEe

Question Id : 59

T AT o YBIIT F THT I FIT Fgl Sl §7?

(A) TSlfAghy (B) YA Taiedel
(C) SS9 (D) Teaciaer sgide
YU 37 & 37 P FAT gl ofidl g7

(A) Tehfagher (B) WRIH TGiieeie
(C) siggeT (D) fadraeh sigde

T N TN W AR §
St e g

(A) HRRT 3R gRE a7 R

(B) 37/@TST & $TRY BT

(€) ¥, Fa, ¥, oI R areh A gy

(0) Sieez 3T i aforT

Question Id : 62

ITA-dT I Ugell 33T hisT AT 82

(A) aig (B) ==

(C) =R (D) HTsT

AT @ & F1 872

(A) 12-16 9fad f&Aee (B) 8-12 yfa A=e
(©) 18-22 yfa fAsse (D) 26-30 wfa Aae
RAfRa T FT & T FT ¢ :

(A) N T HJoleT 3R Fotoll
(B) 2R T HJoleT 3R T
(D) weprarar 3R T&TOT

Question Id : 65

(C) Fofelr 3R Teprarc
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66.

67.

68.

69.

70.

71.

72.

Kwashiorkor occurs in children due to deficiency of
(A) Protein (B) Carbohydrate
(C) Minerals (D) Vitamins

Question Id : 66
One of the following, is the source of chemical

energy and heat :
(A) Minerals

(C) Protein

(B) Fats
(D) Vitamins

Question Id : 67

The deficiency of the vitamin D in children results in
(A) Scurvy (B) Rickets

(C) Anaemia (D) Pellagra
Question Id : 68

For formation of hemoglobin in red blood cells, one
of the following substances is necessary
(A) Iron (B) Phosphate

(C) lodine (D) Calcium

Question Id : 69
Out of the following, this is an example of non-
infectious diseases :
(A) Cancer

() TB

(B) Malaria
(D) AIDS

Question Id : 70
An 11 year old boy has been diagnosed with
typhoid, according to you which may be the cause
of this disease in the boy?
(A) consumption of unhygienic food
(B) biting of mosquito
(C) abnormal growth of cells in body

(D) direct contact with blood

Question Id : 71
One of the side-effects of chemotherapy for cancer
is
(A) hair growing (B) typhoid
(€) malaria (D) hair loss

Question Id : 72

66

67.

68.

69.

70.

71.

72.

SOl # FAMRAIRGAT hahr &l H dolg T gidr

0

(A) 9ET (B) aFrefgrsge

© @i (D) FoerfeT
N
qaEg

(A) @R (B) =

(© e (D) ForerfeT

got & PR D & A d AT A R
(A) Tt (8) Ri¥cw

(©) T (D) deaT

S Y 1F S SN -
ffofaa &7 & v 9gry Fr 3aRIFT &

(A) Sgaea (B) W&k

(C) 3mNSA (D) FfcTTH
fArfef@a # & v IR-Tr#FEs AT 1 30T
&

(A) % (B) FaRa

(© TB (D) wzE

Question Id : 70

T 11 AT & o5k H CISHISS H folgel fohar
Sl & | 3R 3J8R oigeh H 8 AT & HROT
T g7

(A) sregeer @y &7 3usieT

(B) HTSY T hica

() R H AR N IJHAT Figys
(D) Tl & @Y Aer {uh

Question Id : 71

ffoi@d # & Hld & FW A FANT &

T &2
(A) STeT 33T (B) erswiss
(€) FaR=T (D) STeT STS=T

Question Id : 72
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73.

74.

75.

76.

77.

78.

79.

The oxygen level in the body decreases in person
with the chronic smoking because smoking
increases

(A) Iron level in blood
(B) Carbon monoxide level in blood
(C) Water level in blood

(D) Carbon dioxide level in blood
Question Id: 73

The Municipal Corporation of city cleans and
purifies the soiled and dirty water by the process of
(A) Hydration treatment (B) RO treatment

(C) Suez treatment

(D) Chlorination treatment
Question Id : 74
One example of rapidly degradable pollutants is
(A) Vegetable (8) DDT
(C) Plastic (D) Agricultural waste
Question Id : 75

The human and animals live in the tropospheric
layer of
(A) Atmosphere

(C) Water

(B) Environment

(D) Stratosphere
Question Id : 76

The normal level of carbon dioxide in the

atmosphere is
(A) 78%

(€) 0.03%

(B) 10%
(D) 15%
Question Id : 77

CFC is one of the Ozone Depletion Substances
which is found in

(A) Refrigerator (B) Airconditioner

(C) Water cooler (D) All of these

Question Id : 78
One of the symptoms of the dementia is
(A) jerking of the hands (B) paralysis

(C) lethargy

(D) impairment of memory

Question Id : 79

73.

74.

75.

76.

77.

78.

79.

FIfA THRET A dolg ¥ e F e &R
TS &, Fifeh THIhIET (YHUT) AT Al

(A) &g & dig 1 &) ST B

(B) T&d H FleeT AAIGHSS & TR Faldm ¢l
() T&d & Il & TR S gl

(D) T&d F FIdeT SS3HFARSS A TR dadm gl

Question Id : 73

A N FYAAGer FHOReeT e gfshar & Fcd
alel 3¢ Ulell &l Yy 3R Fed &=lid 872

(A) SRS 39AR (8) RO 3waX

(C) gust 39aR (D) FARRHA 39
aRa fafed @ arer Yeue T 3eTeR0T ¥
(A) gsair (8) DDT

(C) conf&es (D) T T FHT

AT R T % s wa e
A & |

(A) ardreRoT (B) gfrawor

(C) 9= (D) FHATIHSH

aIATROT ¥ el SISAFESS Hl THT &R
%I

(A) 78% (B) 10%

(€) 0.03% (D) 15%

CFC T& 35l a8t IcHs Yerd g i H
qrIT ST g |

(A) IHREX (B) arceifoid #Rite

(C) aleT FeR (D) =TT & oW
ffofaa & & v BHARR™r &1 o’or ¢

(A) grat & Ut (B) wgward

(€) g (D) wfer & gfer

Question Id : 79
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80. Which of the following substances, reduces|80. FFATA@T F T HiT G 9T AT H Feol FH
constipation in human? T 87
(A) Fiber (B) Fat (A) T (B) =ar
(C) Cholesterol (D) Protein (C) Fro=eT (D) wrdr
Question Id : 80 Question Id : 80
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3 WA-UT F §A I ¥ Gg Fuar fAget wr o
refiEt & v Ry e

10.

11.

12.

13.

14.

15.

16.

17.

18.
19.

20.

IAF TR N gl Y 3R IR WReT F v e 376 T 3efid 2 § |

3R &l ¥ Ugel PN S of R GRETe & Fel (1-12) Y56 3R Tk OMR e 95 olief shiival arel & | 3afdat & gerg & el & T
gge i fAeIe % 3eX ARG 9 of T o gRETR R OMR 3w ek & @l I I oRe o9 gU ¥ 3R 30 el off v & atfar
H?’rqg*‘c?r%IwmwﬁmﬁmeMﬁmﬁémwwOMmewﬁw|lﬁraﬂT§rN’81
B & iy fBete wrard W Rt | FaR 8 fRr s |

38 gf&de 3R OMR 3R U H IW A AoT o< foi@ell o ofel |

TRA-giETehT 3R OMR 3R 93k & fanell off gso &t o IS 3R o A1 |
mﬁmwmr-wm%,mwmﬁﬁ@mmwmwmﬂwﬁwmwwBﬁ'@T@T%’|s%r
T A R TSI HOFRY ZaRT FAOT & AT | gEk IMARFT Bl [T g3 U aRwd-aw, o R g arsde, Aderar
oReRr-oa, 3R &S, qEdie e 7 & FS T qaT-Feg W A6l I § | &6 of g W 3 @ alwem-den 7 v & Al
aer &r e |

37 OMR 3tR-9h # o, Ul of. 3N ol o, T M | I gohole &, F AT A /1 T+ @relr ol Ser § a1 wh & 3t
gehole . o T 10 § a1 TAEMGER A 3R Aol ek g X 1T § A S ITofcd e & SRT IT gohole . HlAl SN HR FeR-Th
& Hediehal oTe1 R @ | Fehore . foger & Rl of govR &1 I a1 9 7 W 3 Tod & IROTA # e & fAT SeRerr
g | g3l 3T 9T I % 39S 3N Af-3nT U aC g & IS F IRl 3URUMA-THH W, OMR W T W IR
g TN 7 &3 3k 3R we | gEasR o 8T |

oTeTT-gler 3 IRdreTs U 7 39ARRT TR W & T E 7 FEARR e & 3R WS F TR &

sgfdat & AarEd § St & F § OMR 3R-u3% # et off YR F1 IAmRIF AU 7 7a¢ 3k 7 & ¥ AF | OMR 3 = &
7o off fAEa 3R e & ma 3% Bem & AT w@s, T9ge, J8, a%he W E@d / ageer A F o a1 Rl s veR § 59 afa
ggaeT WEd fdy ¥ | AR R § @ s we e R R smen 3R 3w Aeima @@ R smeen |

IR & AN & S & T 3 T, Alge B, R o vR A O, Sec, Sl O HUR G I, O, AfREe, ReR, AR
3R forar gam Mm% fov cRel werd wWem-dhg 7 7 & ¢ IR A & IS, WA, FeT A Ggeor F 3T AT B o G 3megyor
Ugel| ST ST & WY fREr o 3Tt A odETgier W g gt feAr Seen | udiet-het & e R sl & ur Al Aeger B 41
U @ IS o] TSR Soo@ I AT IR &, Rl Sl & A 58 A o IR Seole A Swen AR oeT # 3@ i e
FX & SEE aur Jiasy 7 o S arelr wemt #F 3ufea @ W o ufdestr o e Swer |

fofEa ofiem & fAdemor & ofem-des & wdr § wge denelt & faRed, CCTV Forr, aridfes a5 & s & foemer o 3ufeufa s,
wrer e, AfsdEmdr 3 SER 1 e 3l anfier § ik dher @ A ST T R T I F WA W HIS GET RIET F & T |
RIET-he, F IRATT I WET-glel # A & IRATT & Faer 7 Rar off 3l & o ) R 78 B s |

aReeTeR gaRT JoRI-9F A1 3URRAS e 7 3l & Tt fohT gU wiel 1 AT 3l & fohar Sieen | el 3R 3ES P F Fed
3R vgEeT F R o g A faEefa wiv S W s @ afen & vawr & egaAfa a8 & Seeh ik @g s sfder @ oo
g

39 OMR -9 & et il 8, Hr ofat, 3mer ufd v 3t ofd | 3% a1f¥ 3remr o &Y | OMR 3R g &1 el wfct 31 airelf
T ITEET-3TCRT Hel o HY | 30T qfeT T @7 W INTAINR, 3R-UFH el Jiaar S 3eRT R e a7 aRoetes & dfg & |
3t oy et IRORTR GaRT 37elT X 3og & & SN | 3Tt ey Y 5@ e gieded @ o S Fad § |

IF TR % TR Jehiodeh 3R U 1T § [SoH ¥ ael U T & | I WRel & 3R & it OMR 3R 9% H had 39 T el & 9l
T IR AT & O 3T T 3R THSAST § | Tg U AT gaRT 3Telstl FRIT IT hdel el AT HleT STel-Oef F T § | el F R &
forT Afeer T gRAeT g el § |

et & T 3R 3w I ee & v e o anrel & s (Tereie/aiee) 7 ST AT SRR oFer & S |

forell ofr 3 1 OMR 3TR U3eh Tell DSl T AT 1T § | IS g OMR 3R Tk Tell I I At IR 30 W "$i" Fel F
AN 39T gElER o &7 3R 39 W "foRe” forg &9t |

9 3R-TFF N S Seirciioleh Thioldl HHELA F T SN | LT AT el I R NI FR-G5F AT & Fhell & |

AT 3HTaeTeh [3eR0T AEUEIgEe STR-I9% & IR § | STR-Ih & scold & Al 7l & |

ST & TE AAANA P TS GEHT AT BT T F T eaie B & | IR 3T T F 370 el FoFer o § o 0F 3R A
eI HIAT ST 3R W TR HT HodieheT o7al g |

CORRECT METHOD / 7#1 &=t WRONG METHODS /I il

o] _lo]0)] OFOO OROO OO EOOO

e g 3Tt 3ugrd &R & qolel TG AT T AT HPREA $IT FAT § o T HEAgER 36 feey F@gr Fm, 3R sEn
ARG 38 AT 7 o ST drel QT3 ¥ o afga Far o Todr § | 35 Tateyr 3ORITIeh FIRIaer 1 d o of fohdT ST Tl € |

Page: 16



